FEEAEREIE I EHRUVERORRE—& FH2FIASHERR

-3 = -3
B % = B % B B % =
gamr | B | % | & |gessew | § = £ BHE g B s
= £ =
-4 #% 8 # #% 8 4 % 8
% % %
%3 754 157 597 1 |#LigmH 2,985 1,115 1,870 |1 [FREARX 23 3 20
2 | EHE 39 3 36 2 [i&h 36 4 32 PEETS 52 6 46
3 [5F8 68 10 58 3 |Fimth 14 3 11 3 [EBX 532 152 380
4 |=EHE 66 10 56 4 |HEEH 209 26 183 4 |FHBER 2,071 455 1,616
5 |FUAE 26 4 22 5 Il 110 19 91 5 | XERX 150 18 132
6 [LLFZE 21 3 18 6 [tRER™ 14 0 14 6 |[BEEKX 971 308 663
1 |RER 70 7 63 7 |ABER 518 95 423 ETET 830 203 627
8 |RE 117 4 113 8 |[FARm 841 174 667 8 IHERX 59 32 27
9 [fEAKRE 222 10 212 9 | KMkt 3,971 1,799 2172 19 |[®RIEX 182 41 141
10 [EEE 88 6 82 10 3Rt 33 1 32 10 [HERX 35 8 27
1 [BEE 248 16 232 |11 |[®FEm® 87 4 83 11 [KARK 108 35 73
12 [FER 631 36 595 12 | 54 4 50 12 [HEHARX 272 46 226
13 | AR 249 34 215 13 |[RETH 345 123 222 13 BB 1,050 177 873
14 |#HZ)I[E 267 34 233 14 [)IIA ™ 15 6 9 14 [PEFX 258 85 173
15 |FTiRE 145 6 139 15 [J\EFH 35 9 26 15 (&K 245 36 209
16 [EILE 85 4 81 16 |#EBE™ 45 1 44 16 |EEX 1,183 258 925
17 |[BIE 28 1 27 17 |&iRth 54 17 37 17 [ 252 51 201
18 [fBHE 14 2 12 18 |24 3 0 3 18 [FJIIX 92 32 60
19 [IUEYE 189 11 178 19 |[#ATH 15 1 14 19 [{REBX 282 73 209
20 [ EHIE 96 5 91 20 [J\Eth 3 0 3 20 [(FERX 68 7 61
21 [IFE R 142 11 131 21 BB 3 2 1 21 |BiIRX 95 16 79
22 |E3EIR 230 15 215 |22 [wkET 11 2 9 22 |BfhiX 272 95 177
23 [BHE 83 8 75 23 |fER&™ 1 0 1 23 [IFJIIR 246 72 174
24 |=EE 102 8 94 24 [[Bigth 5 0 5
25 [HER 128 12 116 |25 [A=EHh 1 0 1
26 | AN 52 1 51 26 |[BAAT™ 0 0 0
27 | KBRAF 147 5 142 |27 |=BW 47 4 43
28 | EER 40 0 40 28 |BE™H 8 1 7
29 | ZERE 126 6 120 |29 [E&h 16 7 9
30 [FnFR LR 174 7 167 |30 [S%0th 16 0 16
31 [ERE 17 0 17 31 |IBE;h 247 57 190
32 [ERE 55 2 53 32 [ETH™ 17 3 14
33 (MR 31 6 25 33 |#&R™ 44 2 42
34 |[LER 104 5 99 34 |FyBH 14 2 12
35 (WO 36 2 34
36 |EER 41 4 37
37 |BIIE 91 13 78
38 |EIEIR 81 9 72
39 |E5E 31 2 29
40 [f=H 2 1,428 501 927
4 |[EER 26 2 24
42 |[RIFE 106 12 94
43 [EERE 77 11 66
4 | KRR 79 20 59
45 [ FIFE 53 6 47
46 |[ERER 124 15 109
47 |hisE 1,144 173 971
8,171 1,219 6,952 9,817 3,481 6,336 9,328 2,209 7,119
TFETEAFTEORHKR FEEBAEEEEOERKR FEEEBFNETOBEKR
= : B BREY 2,208 # BRI 86 4
H
H B &
% i e
% #% ®
-4
AR 8171| 1219] eosz| HERCERREAOREEEN
REfEET 9817 | 3481 | 6,336
10,650 B=E
AR 9,328 | 2,209 | 7,119
&t 27,316 | 6,909 | 20,407




